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1 Introduction

The simulation assumptions are defined in [1] and [2]. The new simulation methodology provided in [2] and [3] is described below:
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2 Discussion
The current coexistence cases are described below:

	No.
	Combination
	Aggressor
	Victim
	Notes
	Study Phase

	1
	TN with NTN
	TN DL
	NTN DL
	Applicable for satellite operating in S band, e.g. coexistence with TN n1 FDD.
	Phase 1

	2
	TN with NTN
	TN UL
	NTN UL
	Applicable for satellite operating in S band, e.g. coexistence with TN n1 FDD.
	Phase 1

	3
	TN with NTN
	NTN DL
	TN DL
	Applicable for satellite operating in S band, e.g. coexistence with TN n1 FDD.
	Phase 1

	4
	TN with NTN
	NTN UL
	TN UL
	Applicable for satellite operating in S band, e.g. coexistence with TN n1 FDD.
	Phase 1

	5
	TN with NTN
	NTN UL
	TN DL
	Applicable for satellite operating in S band, e.g. coexistence with TN n34 TDD. 
	Phase 1

	6
	TN with NTN
	TN DL
	NTN UL
	Applicable for satellite operating in S band, e.g. coexistence with TN n34 TDD. 
	Phase 1

	7
	NTN with NTN
	NTN DL
	NTN DL
	HAPS-HAPS
	Phase 2

	
	
	NTN UL
	NTN UL
	HAPS-HAPS
	Phase 2


It is proposed to remove the current simulation analysis Case 6 for urban scenario and keep only Case 6 rural results. This proposal is based on different aspects:
1) It does not make sense to have a city of 50 km or 100 km diameter (with the BS density of the city) entirely covered by a LEO beam, plus the same level of interference from the adjacent beams (and therefore same density in the adjacent beams).

2) A city with a 300 km diameter with the same TN BS density and urban activity factor does not seem realistic.

3) The activity factor of 20% for an urban scenario over 300 km range does not seem realistic and there is no representative basis for this assumption.

Therefore in this contribution we recommend one or multiple resolutions from the following proposals:

Proposal 1: RAN4 shall not perform coexistence analysis for Case 6 urban scenario.

Proposal 2: RAN4 shall perform only coexistence analysis for Case 6 rural.

Proposal 3: RAN4 shall decrease the activity/active factor of 20% for Case 6 for NTN coexistence analysis.
Proposal 4: RAN4 shall decrease the activity/active factor of 20% for Case 6 urban for NTN coexistence analysis.
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Moreover, the current methodology described by [2] and [3] contains several flaws, and therefore we propose to correct the equations as follows:
Proposal 5: RAN4 shall correct the equations used to simplify the NTN coexistence simulations for Case 2 and Case 6 as follows:
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Proposal 6: RAN4 to continue discussion on scaling factor.

Proposal 7: RAN4 to continue discussion on active factor/activity factor.

Proposal 8: RAN4 to potential consider rural deployment in adjacent satellite beams (of the main beam serving urban deployment).

3 Conclusions

Proposal 1: RAN4 shall not perform coexistence analysis for Case 6 urban.

Proposal 2: RAN4 shall perform only coexistence analysis for Case 6 rural.

Proposal 3: RAN4 shall decrease the activity/active factor of 20% for Case 6 for NTN coexistence analysis.

Proposal 4: RAN4 shall decrease the activity/active factor of 20% for Case 6 urban for NTN coexistence analysis.

Proposal 5: RAN4 shall correct the equations used to simplify the NTN coexistence simulations for Case 2 and Case 6 as follows:[image: image5.png]thearea per beam
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Proposal 6: RAN4 to continue discussion on scaling factor.

Proposal 7: RAN4 to continue discussion on active factor/activity factor.

Proposal 8: RAN4 to potential consider rural deployment in adjacent satellite beams (of the main beam serving urban deployment).
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To simplify the simulation of interference from TN to NTN UL in Case 2 and 6, following method can be used. Consider the active TN cells from central NTN beam for the ACI evaluation from TN to NTN UL. The scaling factor is to be discussed and determined if any in next meeting. There is a view that simplifying such coexistence simulation work for Case 2 may even not be required.


Step 1: to drop NTN UE per beamprint randomly;


Step 2: to drop N of 57 sites per beamprint randomly which should be larger than the active TN cluster where the number of active TN clusters is calculated as following:


� EMBED Equation.3 ���       where active_factor = 20%


Step 3: to calculate the total ACI per beam to NTN UL by following scaling factor:


� EMBED Equation.3 ���


Step 4: to calculate the total ACI from all beams (e.g. M=7 ) for NTN:


� EMBED Equation.3 ���





Step 1: to drop NTN UE per beamprint randomly;


Step 2: to drop N clusters consisting of 57 sites sectors per beamprint randomly which should be larger than the active TN cluster where the number of active TN clusters is calculated as following:


  � INCLUDEPICTURE  "cid:image003.png@01D802DE.0F54A370" \* MERGEFORMATINET ���       where active_factor = 20%


Step 3: to calculate the total ACI per beam to NTN UL by following scaling factor:


  � INCLUDEPICTURE  "cid:image004.png@01D802DE.0F54A370" \* MERGEFORMATINET ���


  where:


active_TN=active_factor*round(the area per beam/the area of 57 sectors)       


active_factor = 20% (or lower, particularly for urban scenarios)


Step 4: to calculate the total ACI from all beams (e.g. M=7) for NTN:
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